Topic 16 Test Answer Key

For today’s assignment, grade your test from yesterday and
make test corrections. If you got 100%, there is no math work
today!

Form A

41¢

95¢

half dollar
50¢ = 50¢
61¢ <75¢
$1.57

20 nickels

NoOoh~WDd =

Free Response
1. $1.00 or 100¢
2. $1.65
3. 45¢ < 50¢
4. 1 quarter, 1 dime
1 quarter, 2 nickels
3 dimes, 1 nickel
2 dimes, 3 nickels
1 dime, 5 nickels
7 nickels
1 nickel
Rosalie has 24¢ so she needs 6 more cents.
6 pennies or 1 nickel, 1 penny
. Steven has 80¢ so he needs 2 more pennies.
. 2dimes, 1 nickel, 1 penny
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